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39 (70 @o 1 & 5) : FHrafoiaa 9t 7 @rcht w7 (7) #1 g %7
Direction (Q. Nos. 1 to 5) : Fill the blank (?) in the following series :

480, 120, 40,207
(A) 10 (B) 20 (C) 5 (D) 15

121, 143, 165, ? 209

(A) 188 (B) 187 (C) 190 (D) 186

F2,? D8, C16, B32

(A) A16 (B) G4 (C) E4 (D) E3

1,8,27,64,125,7?

A) 216  (B) 256 (€) 512 (D) 186

. 14,28,20,40, 32,64, ?

(A) 52 (B) 96 (C) 128 (D) 56

1 & T sgen § e wen g
Select the wrong entry in the given series below :
90, 66, 45, 28, 15, 6, 1
(A) 28 (B) 6 (C) 45 (D) 90

ABFf@m2 IBCHwYERwD ARWR IDFCAF AR ?
Aisthe fathér of B. B is the brother of C and D is the mother of A. How is D related to

- C?

o

(A) = (B) = € == (D)

(A) Mother (B) Grand Mother (C) Sister (D) Daughter
¥ 0 el § w02 @, 40 @ A v

As shoes are related to leather, similarly table is related ;

(A) FH T (B) w&Md  (C) wHid (D) ==t
(A) Tochairs (B) ToBed (C) Tofumiture (D) Towood
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9. ¥a fufeai wafi & diwd @, 43 & Ty wata R
" As birds are related to the nests, similarly Human beings are related :
(A) WaTd (B) FHiTH® (C) WA (D) Frme™d
(A) Tobuilding (B) Tooffice (C) Tohouse (D) ToSch

10. ﬁsﬁaﬁmwﬁARUNmNsmafnBALRAMaﬁssmgf%T@rm% 34t
s o BALMANI =t f3r wrepr fora 7

ARUNI is written as 37542 and BALRAM as 831739 in a symbolic Ianguage how
will BALMANI be written in the same language ?

(A) 8319432 (B) 8319372 (C) 8319342 (D) 8319472
R (o Go 11 3k 12) : 7 @A, B, C, D, 3IRE quraR asf¥ai’S, T, U sikV § 8 99
ot #1 vw FAE A7 sl F g T 8

() A 3D wrI-gy @R (i)  C S H AY-TY AR

(iiiy S 3RV H a9 B 7 w® vl (v) T 3itu =y B T © s

Direction (Q. Nos. 11 & 12) : A committee of five members out of five boys A B C D,
and E and four girls S, T, U and V is to be formed with following conditions :

(i AandD have to stay together (i) C and S have to stay
(iii) E cannot stay together with S orV (iv) B cannot stay together with T or U

11. af wRf & & g Tt @ @ =E % Feafafaa § 29-3 vew g ?

If three members of the committee are girls then which of the following will be the
members of the committee ?
(A) STUCE (B) SUVCD (C) TUVAD (D) STUVC

12. TR FAH G wea st d, AFRE I ARG DRI R ?

" Ifthe two members of the committee are girls then which of the following committee
is not possible ?

(A) SUADE (B) STACD (C) UVACD (D) SUACD

RET (To @o 13 3117 14) : Tach gt & wea) § e 10 Fea=y & A 5 Agt & ferg 3@
/= GHT

Direction (Q. Nos. 13 & 14) : Choose the word showing the same relation in the second
pair as shown between words of first pair : ‘

13. DOG:KENNEL::BEE:?
(A) HIVVE  (B) BARN (C) HOLE (D) NEST
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14. SOLDIERS : ARMY : MUSICIANS : ?
(A) FLOCK (B) GANG  (C) COLONY (D) BAND

15. it 3 =, “Qfga 78 Wl A A & wred R F AR | mie Alka & P w=im
27 |
Malini said, “Rohit is the son of only son of the mother of my maternal aunt.” How is
Malinirelated to Rohit?
(A) FHG T8 (B) wAd s
(C) =& (D) vt

(A) Cousinsister (Paternal) (B) Cousin sister (Maternal)

(C) Sister (D) Maternal Aunty

R (W0 To 16 B 18) : 72 Ry 717 37 7 376 o 0 It Srenier 5wt & 3¢ o
A\ 37 =it s afafiies ot € 7 vga wee R |

O 39 saferal w1 wiaffires ot @ o angfefem weg @ |

[ 3 =afwat o wfafiftc e @ 2 2 vee 2

Direction (Q. Nos. 16 to 18) : Study the following diagram and answer the based

questions :
/\ represents the persons who like reading. -
QO represents the persons who like cycling.

[ represents the persons who like trekking.

43
31\ 26
12
12| 28 i 44
36
16. foraq =aftrgl Rl ygT9EE B 7

How many persons like reading ?
(A) 170 (B) 154 (C) 176 (D) 117
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17. Toram safeat & 2R iR veen vg R, angfesforn i ?
How many persons like trekking and reading not the cycling ?

(A) 12 (By 31 -~ (C) 44 (D) 28

18. frm saftral @ agT ofR arsfnfenT que &, 3 7d ?

How many persons like reading and cycling not the trekking ?

(A) 31 (B 12 (C) 26 (D) 28

19. 4t RUN = 182114 3iR BIN = 2914, @ BRING = ?
IfRUN = 182114 and BIN = 2914 then BRING = ?
(A) 2189147  (B) 1178136  (C) 31910158 (D) 21910158

19T (o Fo 20 ¥ 23 ) : 7% 37 7 AT T Qo FHN-3q7F & R & | ¥ ST 7 G AT
e 1 27 o 7 (A), (B), (C) 91 (D) S-S i 2R 58 Sy i g i e et
19 T T~ 3 % T NPT 56 RE 3 gt & 3 - aﬂfﬁ%wﬂa‘gﬁmww? /
e I G eAF T & 17l [T 7Y ae ([]) A I ford |

Direction (Q. Nos. 20 to 23) : There is a problem-figure on the left-hand side, a part of
which is missing. Observe the answer-ﬂgilres (A), (B), (C) and (D) on the right-hand side
and find out the answer-figure which without changing the direction, fits in the missing part of
the problem-figure in order to complete the pattem in the problem-figure. Select the correct

answer and write the answer in the box ([_] ) next to each question.

- A 4 I

Problem-figure Answer-figure

20. ? ' M

- (A) (B) (©) (D)
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AHER - ATFTA I~ AR

Probiem-figure Answer-figure

Ny NN

(A) (B) () (D)

22. » %

@A) (B) © (®)

23. ?

(A) (B) (C) D)

R (o o 24 & 27) : ¥&% 757 § 97 sriadt (A), (B), (C) (D) awm ()R T¥ # 1 37 viw

STFHIAAT § 8 TR SAHI F 5T 7 G5 & T - T HAFR B GAH WA F 37 Rw 1Y
T ([]) & Iwor@ |

Direction (Q. Nos. 24 to 27) : Five figures (A), (B), (C), (D) and (E) have been given in
each question. Of these five figures, four figures are similar in some way and one figure
is different. Select the figure which is different and write the answer in the box ([ ] ) next

to each question.

AV IOIQA] >

(A) (B) (D) (E)
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Problem-figure Answer-figure |

. 1O A x|

(
A) (B) (C) (D) (E)

ol 2] D3 S%F - 25

(A) (B) (C) (D) (E)

JOIVI I8 -

A (B) ey '\l @) (E)

133 (o Go 28 # 31) : X T 7 T TE T GHET-3F 3 741 & T 2 o IR I
i (A), (B), (C) @n(D) & 7E 8 1 36 3 st 1 giAT e awean st o) g/ Rl
2 31k gl 3t gt ¥e7 & 317 3 1Y Fiaea ([ ) 7 I ford |

Direction (Q. Nos. 28 to 31) : A problem figure is given on the left hand side and four
answer figures (A), (B), (C) and (D) are given on the right side. Select the answer figure
in which the problem figure is hidden/embedded and write the answer in the box (1)

next to each question.
28. I I ‘
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Problem-figure Answer-figure
. | @ ®) ©) (©)

| N N
30. I i}

(A) (B) () (D)

31.

& (o o 32 @ 35) : 9edd 5% 4 a7 %71 T 51T T F GHET IFA & w7 7 3 wf & ok
a1 % & 7E TR I sugadi (A), (B), (C) aur (D)7 @ FiE v Fwawt gaer wiw § | 7w &
¥ sngtaal 4 @ a5 st gy Tt 7 F gof q@Al & | agt IO g T & s Ry g ai
() Fm g 1 .

Direction (Q. Nos. 32 to 35) : One part of a square is on the left hand side as question
figure and the other one is among the four answer figures (A), (B), (C) and (D) given on
the right hand side. Find out the figure that complete the square and write the answer in

the box ([]) next to each question.
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Problem-figure Answer-figure

RIB1{P31 15 DI ik

(A) (B) (C) (D)

S 4

(A) (B) (C) 8

JTNEINE T

A) (B) (C) (D)

00 R

©) (D)

35.

&1 (0 Fo 36 &40 : X 7 & w14} a0 T TSt 3 7t @ e 7l e R IR
At (A), (B), (C) a1 (D)3 T & | 38 S~ IF F) gAY i awen gty #1 awtn srHEy
% facgrer 7599 8 79 0 H) XY TG T 8 | T I G 5 5 F At R 10 i
(1) s foerd /
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Direction (Q. Nos. 36 to 40) : There is a problem figure on the left side and four answer
figures marked (A), (B), (C) and (D) are given on the right side. Select the answer figure
which is exactly the mirror image of the problem figure when the mirror is held at XY and
write the answer in the box ( [] ) next to each question. '

AT I I - TR
Problem-figure ' Answer-figure
& RX & SIES
APNHEARZ TN Y
* Y & *| & *|| &
(A) (B) (C) (D)
= K ®
37 2 L—% o — §.—J l_.% = 45/:
) U
Y
(A) (B) (C) (D)
X
[ B Pll- Ly
e T "1
e Y| - E— o
(A) (B) (C) (D)
X
g
(A) (B) (C) (D)
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